b
| : | 1
: 55. Consider the *follOWiIlg‘progT 10 seg®
8 f.l oggq i=6720, j=4
While((i% 1) ==0)

(17 )

. (3) n-— 1 leaandes

: - 4
o (4) 6720
(3) ite
(4) 12 What will be the output of the following G
code ? - ‘
| 53; Convert the expression # include <stdio.h>
 A+B)-(C*D)/(F +G)— H) mn.
3 ' printf ("%.of", 2.89);
to equivalent prefix notation. . | ;
(1) -*AB/*CD-+FGH (1) 2:890000
(2) *— AB/*CD +-FGH @ 289
. (3)' —*AB*/ CD -+ FGH ] ® 2
4) 3

(4). —_+ AB/* CD + - FGH

“tore a graph 57. Which type of - function among the

4. . The common method_ used to following shows polymorphism ?

1S '
(1) | Inline function

(1). Digraph (2) Virtual function
(3) Undeﬁned function

(4) Class member functions




I 59 The number of attributes in a relation 1s
ca]lgd as-1ts '

| (2) Degree
(3) Tuples
(4) Entity

(4) None of the ébove

(3) Synchronization

(4) Slowing down the communication

65. Muﬂng is used in communication to

61. How many IP addresses are available toa S e i
~ ‘company with a class ‘B’ address ? ( . aise the carrier frequency

(1) 8192
(2) 16384
(3) 32768

! requi
(4) 65536 quired value



(2) 1,ow pass filtey
-y Band stop filtor

N Band pass filter

- s
i
LY
V.

ﬁj; | which of the '["oll()Wing‘ 18 n '
ﬁ‘f. ad gantage of digital modulation Y % an

-
s
R
"
]

1) Greater noise immunity

Lt &
A ;
lr,:"
.1.' i;,
) |

9) Easier multiplexing

9) Greater security |71,

(4)' Less band width requirement

The most commonly used connections for
power systems as step-up and step-down

transformers are

L
\ }
.I | w
‘ &
_||. "|1' 1
t &
1
b

(1) Star — Delta, Star — Star 79
(2) Delta — Star, Star — Delta
(3) Star — Star, Delta - Delta

(4) Star — Delta, Delta - Star

In general
electrical fan oper
inductor motor.

(1) Single phas€

(2) Two phase

(3) Three phas®

(4) Poly phase

Synchrongy,
! ' a il T ’() |' [ A ‘.."rj‘ .

(1) tho dir -
) tho diy bction of pogation 18

\ :
the?
3 e d 0%
(3)  the startors cannot be “Hcd
machineg
. on
[] ‘ded
(4)  starting winding is not P*O"
these machines
.. for
9)4)
In series circuits, the €X preSBl
“quality factor is
(1) f,

(2) Band Width (BW)
3) f,/BW

(4) BW/L.

Zener diode is used as

(1) Rectifier

The cross over distortion is due tg
(.1); Power supply fluctuation

(2) Cut-1n voltage of transistor
(3) Bias voltage

(4) Input signal

T e T Py Tl e P b g L S aw




 ySDA -

,.f’( . ts 1 Process g JO[77, | Ro
requests 1nﬁmqu,ﬁ..,ntly generates + Round

time doing computationusmg more of 115

S,

(1) [/O b()und

(2) Swapped
(3) Mixed

(4) CPU-bOu_nd

75. Paging involves breaking logical memory

into blocks of same size called as
(1) Pages

(2) Segments

(3) Fragments

(4 Frames

The desirable criteria for ('PU scheduling

algorithm 18

(1) \Aaximize CPU utilization &

Minimize response time

Maximize response Lime (111111110010),
(1) (EkEZ2),

(3) Ainimize CpPU gtilization &

AMinimize responst (2) (FF 2),

(3) (EF 2)

(4 ) _
' (4) (FD2),,




(4) None of the above

87. Prefix of A—B/C*D$E is

83. The operation performed in each clock (1) -/+*3ACBDE
pulse is called _ 2) /-ABCD w‘=$DE
(1) Micro operation e 3) -A*/BCS$DE

(2) Micro instruction (4) -A/BC*$DE

(3) Micro program

(4) Macro instruction

ams writte -
ogr - print f ("%g"

84. converts the pr .
s Agma mbiy ' language into Machine| | y 1= 4] = — 6):
- language. e The output js
(1) Compiler %
. . . . (2) 5
(2) Interpreter A . (8) @
(3) ' ' @ o




: (2) —s
% (3) 9
(4) =

91. ‘ Minimal super key is otherwise known as

(1) Candidate key

(2) Foreign key
(3) Primary key

(4) Unique key

92. A rectangle in an entity-relationship
‘diagram represents -

(1) Attributes -

(2) Tables
| (8) Entity sets
Datab_ase

(4)

9.

- (2)  Voltage applied tq the

- Baud means the

(1) Number' of bits‘trans;mjtted per unit
time '
(2) Number of bytes transmitted per
 unittime "
(3) Rate at which the signal changes per
~ second ' '
(4) None of the above

Which protocol is used to convert IP

; address to MAC address ?

(1) IP

(2) RARP

(3) In ARP

(4) ARP

Class has the greatest number

of hosts per given network address.
(1) B

(2) A
3) D
4) C

In a CRO, the i ‘
= , the intensity control regulates

(1)  Voltage applied to the cathode

o focusing
(3) Voltage applied to
0 th :
P © accelerating

(4)  Voltage applieq t, the contyg) gﬁd




|
1
{
i
|
l
:
:
E
|
:
:

VSDA _
Th I'IIJjStO | 23 ) }1611
€ I'S . Wi
e o The back emf of a de motor i8 Z€T° 1
- 00. ..o yate
(1) P 031131Ve temperature Coefﬁci (1) The motor 1S running a__t its
e ..
i egat | _ 1
(2) sdllve temperature coefficign 9y The motor is running at 80% 0
_ . .
(3) Ze€ero temperature Coefﬁcient | ratEd FPe .
(3) The motor 1s about to start _
Iﬂﬁnj _ ' 'ts
(4) te temperature coefficient ) The motor is running at 20% of 1
rated speed
98. The expression for band wigg}, N s of the e-llowing is a primary Source
PCM system, where ¥’ is the number of 01. rgy in anu clear power station ?
bits/sample and f; is .4 dating of en
frequency, is given by (1) Uranium
T (2) Lignite
(1) BW= — _ |
2V fm | (3) Peat’
(2) BW<vf, ' | (@ Naturalgas

>2vf e - .
“ SNESY 102. Which of the following types of plates 1s

arthing electrode ?
(4) BW=v{, used as an e o

(1) Aluminium

(2) -Galvanized Iron

| | (3) Steel
99. The number of reflectors in Yagi-Uda
(4) Brass
antenna is/are
(1) One 103. Which of the following is used to generate
power 1n a geothermal jon 7
= g @a station :
‘ (1) Heat in the gir
(3) Thr | 7
| g e (2)  Heat in the Ionosphere
(4) Four @)  Heat nside the Earth

(4)  Heat of the Sun



' (2) 6-5 V

(3) 75V

(4) 85V

105. In superposition  theorem,  while
considering the effect of one voltage (2) Bypass capacitance

source, (3) Coupling capacitors

(1) All other current sources are open (4) Both bypass and coupling capacitors
circuited and voltage sources are

short circuited

(2) All other current and Voltgge sources | 108, CPU scheduler is also known ac
are open circuited |

- _ ) Long term scheduler
(3) All other current and voltage sources ' |

are short circuited e . (2) Job scheduler

(4) All other current sources are short - ) Short term schedyler
circuited 'and‘ voltage sources are|

open circuited




112 It (84):: 18 equal to (64), where X and y

( 25 )
109 Whlch among the followmg Statel‘nents

js/are true related to dynamic loadmg 9 represent base ‘®’ and base ‘v’ numbel

A A routine is not loaded untj] ; systems respectively, what could be the d

1t 18

called
_ PosSlble values of x and y?
B. Unused routine is never loaded
- | : - — 12 - 9
3 Reql.ures‘ special support from the . ¥ i

operating system . 2) x=6 Yy =9
. (2) A and B only . (4) x=9 y‘ = 12

(3) Band C oniy o
' tine is called, then

ABandC 113 When the subrou
o 5 address of the mstructlon followmg the

CALL instruction 18 stored 1n the

110. For a number system, with base n, the (1) Stack

number of different symbols in the
number system will be | (2) Program Counter _

(3) ~ Accumulator

(1) n-1
(2) n (4) Subroutine register
.(3) n+ 1 . ' - 114. Interrupt driven /O
- , | (1) has its main drawback in the

software overhead of interrupts

111. The octal equivalent of (1100101:001010)9 (2) may be better than busy waiting /O,

since, less hardware support 1s

1S

(1) 624-12 required

(2) 145-12 (3) " is equal or faster than DMA for a
(3) 154*12 signal word register -

(4)' Both (1) and (3)

(4) 14521




({ 26 )

Mbeay o

116. Evaluate the followinp

)

5 POSEIIX notation

A:63932+$12‘3/‘_‘

(1) 62 o
[ (2) 66
(3) 83
@) 72
117. main ()
(le}:tern int 1;
1=20); 12
printfi"%d", 1);
}
The output of the above program is
(1) 20
_ @ 0
1| I (3) RError, i undefined
- (4) Garbage value

) & Sl
S Unodes at level §'| 118 main ()

{ s b
it ﬂ:—‘G‘ hmlun AN
x=a&h o
printﬁ"‘?&d' v
}
The value of X 18
Q) 2
(2) 10
(3) B 1
(4) 7

eent in the
\ loments present
9. What are the oloments |

% . o\
array of the following G e

int array [5] = 1613

d, H, b, §, 0
b, 0, 0, 0, 0
Compilation exror

Declaration ervor

0. In C++, which of the following access

specifier 18 used as a default in a class

definition ?

(1)  Protected
(2) Public

(3) Private
(4) Friend




(4) Eliminates duplicates

197. What will be irequency of the Jignd
Asin (4t +0)7

123. Length of ethernet address is

- (1) 2Hz
bytes.
(2) 0-5 Rz
1) 2 |
(1) (3) 4 Hz
(2) 4 (4) 0-25 Hz
(3) 6
(4) 16 128. The meodulation index in Frequency
Modulation (FM) is defined as
(1) Ratio of frequency deviation to the
124. Public key cryptography is also called modulating frequency
(1) Single key cryptography 2) Ratio of frequency deviation to the

carrier frequency

(2) Symmetric kev cipher ‘ _ _ _.
(3) Ratio of carmer irequency o th

i ) a &
(3)  Asymmetric cipher frequency deviation

| frequency deviation



(4) having frst Stage as Filter

(1) Convert energy

183. The direction of genc

(2) Generate energy A
etermined by

3) Change the level of enerey| (1) Lengslaw
utilization | ' nagnetic
(2) Faraday's law

(4) Transmit the energy at same level
induction

(3)  Fleming's left hand rule

131. Which of the following is the correct le
_ (4)  Fleming's right hand ru

representation of the regulation of a

transformer ?

V _V

‘) ‘)
&f 111 ad - s
(D u G,. no load < 100
=full load 134. The power dt"\'t‘lﬂl}(‘d by & 5}'1](‘%11'(3!“‘11?‘-
\ - Ve motor will be maximum when the load
2full load “no load
9) _noload 100 .
' Vo angle 18
~no load
(1)  Zero
| 3) 45°
?2 y load B \:Ei’ullhwi
W ——— 100 4) 120
' Vo




1) IiRr
(@) 0 (zero)

3) -lgcBL
. (4) Infinite

136. Which of the followin .
' g dev
, controlled device ? ) ice is e voltage

Bi-Polar Junction Transistor (BJT)

(1)
(2) Field Effect Transistor (FET)
(3) Silicon Controlled Rectifier (SCR)
(4) None of the above
137. The Thevenin’s resistance i calculated
considering '
Al current SOUTCES are ~ open
' ces are

PRt L

short circuited

(2) All current and VO
short circuited

(3) All current an
open circuited

Jtage source

d voltage gources are

(4
140. ' is the cencept in whi%h Hﬂl
process . copied into main e.rnor)C re
the secondary memory Jccording O the
requirement
(1) Paging
(2) gegmentation
(3) Swapping
Demand Paging
6)g = (ad)y, with

es. The possible

Hammjng code
BCD
Gray code




(3) 0101111
2)  Asynchronous

(3)  Both S1 and S2 are trye - (3) 55
(4) Both S1 and S2 are false (4) 1000 nsec ‘1;

holds the address of the next|149. The best case running time of Bubble sort |

~1nstruction to be executed. 1S
(1) Accumulator (1) O(nlog n) i
(2) Program counter (2) O(n)
(3) O(logn)

(3) Address register

(4) Instruction register (4) O@") - i

146. The sequence of operations performed by|150. A complete binary tree with ‘0’ nodes ;g
CPU in processing an instruction represented sequentially. Thep f,,. niiy

constitutes a/an cycle nodes with index i, the left chilq j5 o
(1) Instruction (1) - 21
(2) Interrupt (2? 2 i+1
(3) Fetch (3) i+Z
(4) 2i+2

Machine

(4)
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